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MASTER OF ARTS 
(ECONOMICS) 

Term-End Examination 

June, 2013 

MEC-001 : MICRO ECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 

Answer any two questions from this section : 	2x20=40 

1. 	A consumer's preferences over a single good x, 

and all other goods y is represented by the utility 

function u(x, y) = ln(x) + y. If the price of x is p, 

that of y is 1 and income is m, 

(a) Derive the Marshallian demand for x 

and y. 

(b) Derive the indirect utility function. 

(c) Use the Slutsky equation to decompose the 

effect of an own-price change in the 

demand for x into income and substitution 

effects. 
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2. (a) Consider the Edgeworth box that describes 

a two-person, two-commodity exchange 

scenario. Explain how both parties enter 

into trade starting from the initial 

endowment position. 

(b) There are two agents (A and B) with utility 

functions given as 

LTA  = xax1— a UB  = xr3  x1-13  
1 2 	 1 2 

for goods x1, x2. The initial endowments of 

these goods for the agents are wA  = (1, 1) 

and wB  = (1, 1). Compute the market 

clearing prices. 

3. (a) Describe the role of reaction functions in 

Cournot's model of duopoly. 

(b) Two firms producing a homogenous 

product, face the demand and cost functions 

given by : 

P =100 — 0.5 (x, + x2) 

=5xi  and 

C2  = 0.5 x22  
Derive the reaction functions of the firms 
and obtain the Cournot solution for the 
market. 

4. What do you understand by a social welfare 
function ? What properties of social optima 
would you consider necessary if such a function 
exists ? Discuss these properties. 
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SECTION - B 

Answer any five questions from this section : 5x12=60 

5. 	A consumer's utility function from consumption 

in two-period horizon is u = C1  C20.6  this income 

stream is given as y1  =1000 and y2  = 648 (Here 1 

and 2 stand for 'today' and 'next year'). if the 

market rate of interest is 8% per annum, find the 

values for consumption in two periods which 

maximises his utility. 

6. 	Arvind's utility function is given as u(w) = \FA, , 

where w = wealth, this present wealth is 

Rs. 40,000. He earns no other income. There is a 

0.5 probability that he will need a surgical 

operation in connection with a health problem. 

In case the surgery is done, it will cost Rs. 20,000. 

He is thinking of going in for a health insurance 

policy which costs Rs. 10,000. 

(a) Find his expected wealth with and without 

insurance. 

(b) Show how much he would be willing to pay 

for buying the insurance. 

7. 	What is the theory of the Second - Best ? Prove 

that theorem with the help of a diagram. 
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8. Let the optimal incentive plan be given as 

s(q) = wq +k 

where s(q) =incentive scheme 

q= output, w = wage 

and k is a constant. 

A worker can produce q units of output at a cost 

2 

of c(q) = —
2 

and he can achieve a utility level 

working elsewhere. What is the optimal 

wage-labour incentive scheme s*(q) for this 

worker ? 

9. Consider the following game : 

1 
T 	

(2, 6) 

2 	 2 
R 

(0,1) (3, 2) ( - 1, 3) (1, 5) 

(a) Can backward induction be applied in this 

game to find a solution ? 

(b) How many subgames are there in this 

game ? 
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10. A perfectly discriminating monopolist faces a 
linear demand curve : 

p = 100 - 4q 

Her total cost is a linear function of her output 
level and given as C =50 + 20q. Determine the 
equilibrium level of output and profit of this 
monopolist. Compare these values with those of 
the situation in which the monopolist were not in 
a position to discriminate. 

11. Consider the production function 
y=f (x1, x2) = x1" x 21-  a. Obtain the input 
demand functions x1  (p, w1, w2, a), x2  (p, Ivy  w2, 
a) ; the profit function 7 (p, w1, w2, a) and the 
supply function y (p, w1, w2, a). Here y is output, 
x1, x2  are the inputs ; p is output price ; w1, w2  
are the input prices, Tr is profit. 
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(a) ,3-f 	fqqR. 	zft f 	r f-- 

a9 fai 	iHI trr-05V4 c 	t I 

	

T-RT, 5rif 	f ftq-r-ff 	3-11-N 

0,-41,1R 74V1 

(b) 31-fi (A 	t at{ -q--131)' xi  AT x2t 

Lhc1-1 t : 

UA  = xa 	UB  = x1-13  

	

2 	 1 2 

3TfirWffi4 	rci 	1 ata i 1;irtrW #17r7 

: WA  = (1, 1) 3T1-{ WB  = (1, 1) 1 ollAlt 

LiRcbrocr .-1f-A7 

3. (a) 	)T9)" (Cournot)trWR Hi so 	54.1q1 

atri-ff 

(b) 	1 \-11411 T-01-K "474a c 4 	t Triji5 331-4 

1T 	c1141d Lho-r 	 : 
P=100— 0.5 (xl  +x2) 

=5xi  

C2  = 0.5 x22  
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rc-R tITt 	chi 	c1 41  

4. 11-)o-r 	3TFT qzif 	qfq -k4T 

rolS1 4-11-f 	311-9 	(14 14 Tigiffft 3c-ct(-11 

tiff -4 quimil 	 ? 	ttumitm1 -,4 -c4f 
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%MIA 	 5x12=60 
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7. -Fq--4171 *3 (second-best) chl firq;ITT t? 

-1V-111 	ft:F-4 	I 

8. 1-11-1 	ran 	r r t 

s(q)=wq+k 

s(q) = c\916-1 7:1)791.  

q=dcylo, w=-41771-  

ailt kf-W t I 

n 2 
c(q)= 	0141c1 	drabqi 4;1 q 	ail  
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rc,m 

zn-q91s*(q)qz11 t? 

9. (-1 rtcci 	r TR fay 	: 
1 

(0,1) (3, 2) ( - 1, 3) (1, 5) 

(a) c44 ti 4-11qN 	 7R--  

31-FrIT9 *1-  (114LfWzii 	t? 

(b) -r*---d-t 	 t? 
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10. 1  f IcTF7 7W1f4-*7- 	TITtpf d14 	'tfuT 

 	t: 

p =100 —4q 

c1141cf, 7:1"k 	T-c17 a-)r 	41(1-1 t 

3117 ,311 t: C =50 + 20q 1 *q 

	 cni faqiut 	-1TH)'• 

	

dk4 "ft-21fd 	i +-11-1  

-crucrrff 	m1 #2.tr 

11. 41cl-1 	fTi 	: 

y:=f (xi, x2)= xia x21–  a 

	

3TTIM TiTrTth—di 	-51-rfff 

x1  (p, w1, W2,  a), x2  (p, w1, w2, a) ; 119Tchl 41c-1-1 

Tr (p, w1, w2, a) at 3-Trif4 41c1-1 y (p, w1, w2, a). 

16y, 	; x1  3-1-{ x2  3-1T11-4 (inputs) ; p, 

	

; wi, 1,872  3 	{c 	3 Tr, TifTT t 1 
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